Math Extension Answers

Extension Answers —

Look for your level, question number and letter to mark your work. For example, if
you answered the green questions on Monday, the answers are green, 1la. and 1b.

Green

1a. She has £1.460 left. She could buy sugar

or another bag of flour.

2a. Susie is correct because 69 + 22,2 =
91.2.

3a. Nate is correct because they kicked
the ball a total of 99.4m.

1a. 5 ones and 5 tenths: 41.5
2a. True

4a. She has 14.07m left. The biggest length
she could cut again is 12.83m.

5a. Jameela is incorrect because134 +
27.41 = 161.41. The missing digits are 2, 4
and 1.

6d. Serend is correct because the meal
cost £10.68.

éa. 203.84
7a. False, 37 - 3.13 = 33.87

Purple

7a. 29.37m and piece A

8a. Bobbi is correct because 664 + 79.15 =
743.15

9a. Vanessa is correct because they ran a
total of 981.12m.

11a. 634.44
12a. Trve

1b. He has £11.40 left. He could buy up to
2 footballs, up to another 2 yoyos.

2b. Pablo is incorrect because 41.1 + 26 =
67.1. The missing digits are é and 1.

3b. Dorota is correct.

1b. 1 ten and 9 ones: 22.7
2b. False. 83 — 2.8 = 80.2

4b. His toweris 15.5cm tall. The largest
piece he could take off is 11cm.

5b. Caleb is correct because 263.66 + 351
= 614.66.

éb. Georgina is correct because they will
spend a total of £103.12.

é6b. 430.26
7b. True

7b. £41.99 and the watch

8b. Kristof is incorrect because 197.03 +
135 = 332.03. The missing digits are 9,0, 3
and 2.

9b. Jenny is correct because the toys
weigh a total of 987.549g.

11b. 451.03
12b. True



